2.1

CaCoO,

90



2. 2.

MKS

diszE
&

divB =0

e )
ot

OoE
rotB = J +ep| ——
H ”[&)

divE=0
divB=0

B SH
FOLE = —| === | =~k | ——
[&J ”{&j

oE
rotB = p1J +&p| ——
H ”[&j

— rotH = @
ot

E= Eo exp{i(&)t_kr)}

E=E, exp{‘“’(t‘[gjr]}

(2.1)
(2.2)
(2.3)

(2.4)

(2.5)
(2.6)

(2.7)

(2.8)

(2.9)



-eonfuf-(4)v)

Ik
k_1
® Vv
E=E, exp{iw(t—l—rj}
v
I
v Ir
I r
(2.11) (2.7)
oH : Ir
— 1y >0 =rotk, exp{la)(t _7}
rotgA = grotA+(gradg)x A
(2.12)

oH . Ir
— Uy i grad {exp{la)[t _Vj}}x E,

grad {exp{iw(t —'Vrj}} — % grad (Ir)

(2.10)

(2.11)

(2.12)

(2.13)

(2.14)



o/
grad(lr):a(;;x)ex+ (a;y)eya(ézzz)ez

:gxex +£yey +€Zez

(2.14)

z(—j{le} (2.15)

20 E H H D g4 -1

D:—(—j{le} (2.17)



.15 H | E | E
D I H H
2.1
D E |
D
S
S=ExH E H
\Y
v==
n
X 1 c
(2.17) (2.16)
D:—( lzJ{lx(le)} (2.18)
HoV

Ax(BxC)=(AC)B-(AB)C

uN°D—E+I(IE)=0 (2.19)



D1
D2 =
D3

D=). &E

3x<3

D, =&,E (i=1~3)

(2.19)

D
uV?D——2+¢,(IE)=0

(i_ﬂovzl D, = ¢, (IE)

(2.20)

(2.21)

(2.22)



(i—yOVZ]DZ =1, (IE) (2.23)

(i—yovzj D, =/, (IE) (2.24)

D | DI=0

+(i—,uovzj(i—,uosz£§ =0 (2.25)
&

1//(001) v



]
(1”0‘92) (,uogogrz) n,

v, O
6oL
Z{W} =0 (2.26)
(Fresnel)
Fresnel 2 D
D'D"=0
i
2 V! VH
f(v)="f(v)=0 (2.28)

(2.22)



Di
gi
(Viz_vz)
IS
(v =)
_ 1 L1
_{(Vfl\,uz)}{f(") f(v)p=0
D' D
2. 3.
)
1 2 5

(2.29)

(2.30)

(2.31)



B, >0
B -1

B xx. =1

N7

B11X12 + B22)(22 + 833X§ =1

2.2

2.3 X,

21

3

(2.32)

(2.33)

(2.34)



uN'D—E+I(IE)=0 (2.19)

1 D, =¢,E

{%vz _(ginj} D, +¢,(1-E)=0

,UVZZ/J E Zzlu 1 — 1
° °Un Lepuon® ) | g,n?

{1—[50”2]} D, +(&n?)£,(1-E)=0 (2.35)



Xl + Xl + %05 =0
(2.33)

anlz + Bzzxz2 + Bsaxaz =1

Lagrange

F=x2+% 4% +24 (XL, + X0, + XL 5)

-

F X, %, X (%0, X5, %)

0

SF X
—=2 240, +24, | —=
ox X + 240, + ﬂz(glj

oF _oF
0X, OX,

(2.36)

(2.37)

(2.38)

(2.39)

(2.40)

(2.41)



b

{1+[&j} X, + 4,0, =0, (2.42)
&

{1+[£J} X; + 4,0, =0.
&

L TRCTR
2 2 2
xf+x§+x§+ﬂq{(ij+(x—2j+[x—3}

& & &3

+ A4, (%l + X0, + %05 ) =0 (2.43)
2 1 3 0
r’+2,=0 A, =1 (2.44)
(2.42) 0y, 1,
(XMHXZEZ+X3€3)+/12{€1X1]+[€2X2j{gSXSJ}
& & &3

+4, (6 +05+05)=0 (2. 45)



(2.46)

(2.47)



3
B 2
1 5
2.4
1 2 2 2
(—Zj(x +y +12 ):1
n
2.4
2.5
3 4 6
spheroid
1
= (x> +y?)+] = |22 =1
[
nO
nO
n

(2.48)

“1 9

(2.49)



n0 ne
n, <N, n, >N,
2.5
2.6
2 2 2
[ij +£l) {i] _1 (2.50)
nl n2 n3
2
2 2
n n, n, (x2) n,
2
2
26 2



2 2.7
27 1
2 2 2
2.8
28 2
k =Kk,n K,
1
2.9 k
CaCoO,
2
sing, =nsiné, (2.51)
6,=0 6, =0



B.xx. =1

)

n,=1.48

2.10

(2.52)

(2.53)

(2.54)

(2.55)



k



